N of reco track vs dxy

[N of associated (recoToSim) tracks vs dxy

N of associated (recoToSim) looper tracks vs dxy

%] F 1% F %]
X F - X F X
g sl : 8 sl g
=0°F o =10°F £
E FIN: g
I E il
10%F 1 =
E E =]
F F °
10°F 10°F
10%F 10%F
10F 10F
3 jISIEREET - R (3 ] R
o F 00000001 __Global
T DQM v0001 R000000001 ¢ Global — CMSSW_| mknocutz RECO
24 i a ||| T g 0 24
H : : H - 3 166
—25- 20 15-10 5 0 5 10 5 20 25 -25-20-15-10-5 0 5 10 15 20 25 0'—45—20—15—10 -5 0 5 10 15 20 25 0'—25—20—15—10 -5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)

N of reco track vs dz

Ratio

10 20 30
track dz (cm)

[N of associated (recoToSim) tracks vs dz_]

true tracks

-30 -2 -10 0 10 20 30
track dz (cm)

10

Try
——
——

Ratio

L

track dz (cm)

| N of associated (recoToSim) looper tracks vs dz |

=
o
S

duplicate tracks

Ratio

=30 -20 -10 10 20 30
track dz (cm)



	Contents
	Page 1


